4x4 SRR ImEE A 4 (1% VHDL- keyin_4word.vhd (S22 #1 A (S5 com 53257 ()
library ieee;
use ieee.std_logic 1164.all;
use ieee.std_logic unsigned.all;
use ieee.std logic_arith.all;
entity keyin_4word is
port(
clr: in std_logic; --{I/f&E 7R L 7 BRI
ena:instd_logic; -~ f% {7 BERG A ZLAE M
clkl:instd_logic;  --SEHE i RSl pa B UG (5 558 (40HZ~250HZ)
y :in std_logic vector(3 downto 0); --Y #lifis A(S5%
x : out std_logic vector(3 downto 0); --X {rimddilmH{=55E

scan_seg : out std_logic_vector(3 downto 0);  --Scan_seg - E[i&E [~ esimi S5k

seg : out std_logic_vector(0 to 6)) ;
end keyin_4word;
_ kst ske sk ste ke st ske sk she st sk sie sk ske st sk s ske sk sk ste sk st sk ske sk steoskeoste sk sk skeoskeoskeske sk sk
architecture key of keyin 4word is
signal bed : std_logic_vector(3 downto 0);
signal y_code : std_logic_vector(1 downto 0);
signal keycode : std_logic_vector(3 downto 0);
signal deb_press : std_logic;
signal sh _reg : std_logic_vector(15 downto 0);
_ o keske sk sk ste ke st ske sk sk st sk sie sk sk st sk s sk ske sk st sk st skeoske sk st skeosie sk sk sleskeoskeskeoske sk skeoskoskosk
component debounce
PORT(
fs:IN STD_LOGIC;
bounce_in:in std_logic;
deb_out:out STD LOGIC
);
end component;
_ kst ske st ste ke st ske sk sk ste sk sk ske sk st skeoskeoskeoske sk sheoskeoskeske sk sk
begin
key code:  --FEF{EH R AR EE RS
process(clkl)
begin
if clk1="1" and clk1'event then
if y="1111" then
ify code="11" then
y_code<="00";
else y_code<=y code+l;
end if;
elsif y="1110" then
keycode<=y code&"00";



elsif y="1101" then
keycode<=y code&"01";

elsif y="1011" then
keycode<=y code&"10";

elsif y="0111" then
keycode<=y code&"11";

end if;

end if;

end process key code;

_ kst ske st ste sk sie sk ske st sk s sk ske sk st skeoste sk sk sl skeoskesieoske sk skeskoskosk
key_scan: 5T E 50 EES
process(y_code)
begin

case y_code is

when "00" => x<="0111";

when "01" => x<="1011";

when "10" => x<="1101";

when "11" =>x<="1110";

when others=>x<="1111";

end case;

end process key scan;

_ 3kt sk st ske st sk sk sk sfe sk sk sk sk sk sk sk sk sk skeoske sk sk sk skeosk skok

\
load 4word:
block block EHE - A EF
signal press : std_logic; B R R =
begin g Cilk ST
press<=(y(0) and y(1) and y(2) and y(3)); --#Z5BARIE T R 115 T 0 block > 34 fiIFE =AY
debounce mod:debounce ISEOL G TE Bk R aJEEE o

port map(fs=>clk1,bounce_in=>press,deb_out=>deb_press);| = debounce
end block load 4word; )

_ ket sk st ske s sk sk ke sk sk ske s sk sk ke sk sk ske sk sk sk ke sk sk sk sk sk sk ke sk sk sk sk sk sk sk sk sk sk sk sk sk ke sk skeoske stk sk sk skosk skok

shift:process(clr,deb_press)
begin
if clr="0"then  --& CLR Ry{REE(LHF - EFF2siomialy 0
sh_reg(15 downto 0)<="0000000000000000";
elsif deb_press='0' and deb press'event then -7 F 578 Bk & 4% (S 5E 2%
if ena='0"then -- 3 AZIHE ena Sy{NEE il
sh_reg(15 downto 0)<=sh_reg(11 downto 0) & keycode;
-~ A B BT (4bit) ELER L T R 2R AIL 4bit
end if;
end if;

end process shift;

_ 3kt sk st ske st sk sk sk sfe sk sk sk sk sk sk sk sk sk skeoske sk sk sk skosk skok



Scan_seg7:
process(Clk1)
variable Scanl : std logic vector(1 downto 0):="00";
begin
wait until clk1="1";
if (Scan1="00") then
Scan_seg <="0111";
bed <=sh_reg(15 downto 12) ;
elsif (Scan1="01") then
Scan_seg <="1011";
bced <=sh_reg(11 downto 8);
elsif (Scan1="10") then
Scan_seg <="1101";
bed <= sh_reg(7 downto 4);
else Scan_seg <="1110";
bed <= sh_reg(3 downto 0);
end if ;
if Scanl >="11" then Scanl :="00" ;
else Scanl := Scanl + 1 ;
end if ;
end process scan_seg7 ;
_ kst sk st ske s sk sk ke sk sk ske s sk sk sk sk sk ske sk s sk sk sk sk sk sk sk sk ke sk sk sk sk sk sk ke sk sk sk sk sk sk sk skeoske stk sk sk skosk skok
with bed select
seg <="1111110" when "0000",
"0110000" when "0001",
"1101101"  when "0010",
"1111001" when "0011",
"0110011" when "0100",
"1011011"  when "0101",
"0011111" when "0110",
"1110000" when "0O111",
"ITI11111"  when "1000",
"1110011" when "1001",
"1001111" when others ;
end key ;



4x4 SEAEIFEEA A 4 (78 VHDL keyin_4word_com0.vhd (S##3# A (55% com LB ()
library ieee;
use ieee.std_logic 1164.all;
use ieee.std_logic unsigned.all;
use ieee.std logic_arith.all;
entity keyin _4word comO is
port(
clr : in std_logic;
ena : in std_logic;
clk1: in std_logic;--$## i K2 58Pk B HUEE (5 57 (40HZ~250HZ)
y :in std_logic vector(3 downto 0);--Y %![Eg A(S5%
x : out std_logic vector(3 downto 0);--X {TiwfialH{E5%
scan_seg : out std_logic_vector(3 downto 0);--Scan_seg & Resiminin LS5k
seg : out std_logic_vector(0 to 6)) ;
end keyin_4word com0;
_ 3kt sk st sk sfe sk sk sk she sk sk sk sk sk sk ske sk sk sk sk sk sk ske sk sk sk sk sk sk skeosk sk sk skosk skok
architecture key of keyin _4word comO is
signal bed : std_logic_vector(3 downto 0);
signal y_code : std_logic_vector(1 downto 0);
signal keycode : std_logic_vector(3 downto 0);
signal deb_press : std_logic;
signal sh _reg : std_logic_vector(15 downto 0);
_ 3kt sk st ske s sk sk ke sk sk sk s sk sk sk sk sk sk sk sk sk ke sk sk ske sk sk sk ke sk skeoske sk sk sk skosk skok
component debounce
PORT(
fs:IN STD_LOGIC;
bounce_in:in std_logic;
deb out:out STD LOGIC
);
end component;
_ ket sk st ske s s sk ke sk sk ske sk sk sk sk sk skeoske sk sk sk sk sk sk
begin
key_code:  --f g (s I K St ER S
process(clkl)
begin
if clk1="1" and clk1'event then
if y="0000" then
ify code="11" then
y_code<="00";
else y_code<=y code+l;
end if;
elsif y="0001" then
keycode<=y code&"00";



elsif y="0010" then
keycode<=y code&"01";

elsif y="0100" then
keycode<=y code&"10";

elsif y="1000" then
keycode<=y code&"11";

end if;

end if;

end process key code;
_ ket she st ske st sk sk sk sfe sk sk sk sk sk sk sk sk skeoske sk sk sk skeosk skok

key_scan:--5I (= 5t L EEIES

process(y_code)

begin
case y_code is
when "00" => x<="1000";
when "01" =>x<="0100";
when "10" => x<="0010";
when "11" =>x<="0001";
when others=>x<="0000";
end case;

end process key scan;

_ ket sk st ske st sk sk sk sfe sk sk sk sk sk sk sk sk skeoske sk sk sk skosk skok

load 4word:
block
signal press : std_logic;
begin
press<=(y(0) or y(1) or y(2) or y(3));  --#ZEERIE MR 0% T Ry 1
debounce mod:debounce
port map(fs=>clk1,bounce in=>press,deb _out=>deb press);
end block load 4word;
_ ket sk st ske s sk sk sk sk sk ske s sk sk ke sk sk ske sk s sk ke sk sk ske sk sk sk sk sk sk sk sk sk sk sk sk sk ske sk sk sk ke sk skeoske stk sk sk skosk skok
shift:process(clr,deb_press)
begin
if clr="0" then
sh_reg(15 downto 0)<="0000000000000000";
elsif deb press='1"and deb_press'event then — --FZ§# 78 Bk (F & (S 9%
if ena='0" then
sh _reg(15 downto 0)<=sh reg(11 downto 0) & keycode;--i A& {7 &= (4bit) EL&x (7 o[ 22T 4bit
end if;
end if;

end process shift;
_ kst sk st ske st sk sk sk sfe sk ske sk sk sk sk sk sk skeoske stk sk sk skosk skok



segZ:block - CEIETRESH AT BN AH S —(E block > #E IR AIEME

signal bed : std logic vector(3 downto 0); --i8f[H FAEERE AT bed MU EIE AN TR
begin

Scan_seg7:

process(Clk1)

variable Scanl : std logic vector(1 downto 0):="00";
begin

wait until clk1="1";
if (Scan1="00") then

Scan_seg <="0111";

bed <=sh_reg(15 downto 12) ;
elsif (Scan1="01") then

Scan_seg <="1011";

bed <=sh_reg(11 downto 8);
elsif (Scan1="10") then

Scan_seg <="1101";

bed <= sh_reg(7 downto 4);
else Scan_seg <="1110";

bed <= sh_reg(3 downto 0);
end if ;
if Scanl >="11" then Scanl :="00" ;
else Scanl := Scanl + 1 ;
end if ;

end process scan_seg7

_ ket sk st ske s sk sk ke sk sk sk s sk sk ke sk sk ske sk s sk sk sk sk sk sk sk sk sk sk sk sk sk sk ke sk sk sk sk sk sk ke sk skeoske stk sk sk skosk skok

with bed select SHABIOEKSERT: --4:5F 7 ABET LSt T RS
seg <= "1111110" when "0000" , endkey

"0110000" when "0001" ,
"1101101"  when "0010" ,
"1111001"  when "0011" ,
"0110011"  when "0100" ,
"1011011"  when "0101" ,
"0011111" when "0110" ,
"1110000" when "0111" ,
"I11111"  when "1000" ,
"1110011"  when "1001" ,
"1000000" when "1010" , )
"0100000" when "1011" ,
"0010000" when "1100", | T abcde Rk
"0001000" when "1101" ,
"0000100" when "1110" ,
"0000010" when "1111", )
"1001111" when others ;




4x4 G frtedi A 6 iz VHDL- keyin_6word.vhd (S882#i A {55t com HREEE(KEE (L)
library ieee;
use ieee.std_logic 1164.all;
use ieee.std_logic unsigned.all;
use ieee.std logic_arith.all;
entity keyin_6word is
port(
clr : in std_logic;
ena : in std_logic;
clkl: in std_logic; - KR Pk B HUB (S 57 (40HZ~250HZ)
y :in std_logic vector(3 downto 0);  --Y %l[fg A(S5%

x :out std logic vector(3 downto 0);  --X {7¥Ffdilm (S5
scan_seg : out std_logic_vector(5 downto 0);  --Scan_seg T EifH Resimibn S5k

seg : out std_logic_vector(0 to 6)) ; --Scan_seg T Efif ~esl H{EE
end keyin _6word;
_ 3kt sk st sk sfe sk sk sk she sk sk sk sk sk sk ske sk sk sk sk sk sk ske sk sk sk sk sk sk skeosk sk sk skosk skok
architecture key of keyin_6word is
signal bed : std_logic_vector(3 downto 0);
signal y_code : std_logic_vector(1 downto 0);
signal keycode : std_logic_vector(3 downto 0);
signal deb_press : std_logic;
signal sh _reg : std_logic vector(23 downto 0);

_ ket sk st ske s sk sk ke sk sk ske s sk sk sk sk sk sk sk sk sk ke sk sk ske sk sk sk ke sk skeoske stk sk sk skosk skok

component debounce )

PORT(
fs:IN STD LOGIC;
bounce in:in std_logic;
deb out:out STD LOGIC
);
end component; /

_ ket sk st ske s s sk ke ske sk ske sk sk sk sk sk steoske sk skeoskeosk sk skok sk

> BB BHR ERE

begin
key_code:--#% 52 (0 5 Gt EE S
process(clkl)
begin
if clk1="1" and clk1'event then
if y="0000" then  -- §f#HE com FEEERZ 0
ify code="11" then
y_code<="00";
else y_code<=y code+l;
end if;
elsif y="0001" then



keycode<=y code&"00";
elsif y="0010" then
keycode<=y code&"01";
elsif y="0100" then
keycode<=y code&"10";
elsif y="1000" then
keycode<=y code&"11";
end if;
end if;

end process key code;
_ 3kt sk st ske st sk sk sk sfe sk sk sk sk sk sk sfeoske sk skeoske sk sk sk skeosk skok

key_scan:  --FliF (S5 H RS
process(y_code)
begin

case y_code is

when "00" => x<="1000";

when "01" => x<="0100";

when "10" => x<="0010";

when "11" =>x<="0001";

when others=>x<="0000";

end case;

end process key scan;

_ 3kt sk st ske st sk sk sfe sk sk sk sk sk sk sfeoske sk skeoske stk sk sk skosk skok

load 4word:

block

signal press : std_logic;

begin

press<=(y(0) or y(1) or y(2) or y(3));

debounce mod:debounce

—Z SRS > RIZ TR 037 N Ry 1

IO I7558E Bk e e B

port map(fs=>clk1,bounce in=>press,deb_out=>deb press);

end block load_4word;

_ ket sk st ske s sk sk sk sk sk ske s sk sk ke sk sk ske sk s sk ke sk sk ske sk sk sk sk sk sk sk sk sk sk sk sk sk ske sk sk sk ke sk skeoske stk sk sk skosk skok

shift:process(clr,deb_press)
begin

if clr="1" then

sh_reg(23 downto 0)<="000000000000000000000000";

- R £5°000000” 6 iE O - 24bit
--$Z SR PRk 45 (5 o Mt

elsif deb_press='1' and deb_press'event then

if ena="0'" then

sh reg(23 downto 0)<= sh_reg(19 downto 0) & keycode; --ifi A ([ {17 F 5 (4bit) ELER {17 7T (A A2 AL AT 4bit

end if;



end if;

end process shift;
_ ket sk st ske st sk sk sk sfe sk ske sk sk sk sk sk ske sk sk sk sk sk skosk skok

Scan_seg7:
process(Clk1)
variable Scanl : std_logic vector(2 downto 0):="000";
begin
wait until clk1="1";
if (Scan1="000") then
Scan_seg <="100000" ;
bed <= sh_reg(23 downto 20) ;
elsif (Scan1="001") then
Scan_seg <="010000" ;
bed <= sh_reg(19 downto 16);
elsif (Scan1="010") then
Scan_seg <="001000" ; 7 SRR
bed <=sh_reg(15 downto 12);
elsif (Scan1="011") then
Scan_seg <="000100" ;
bed <=sh_reg(11 downto 8);
elsif (Scan1="100") then
Scan_seg <="000010" ;
bed <= sh_reg(7 downto 4);
else Scan_seg <= "000001" ;
bed <= sh_reg(3 downto 0);
end if ;
if Scanl >="101" then Scanl :="000" ;
else Scanl := Scanl + 1 ;
end if ;
end process scan_seg7 ;
_ ket she st ske s sk sk ke sk sk ske s sk sk ke sk sk sk sk s sk ke sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk ke sk skeoske stk sk sk skosk skok

with bed select "1110011" when "1001",
seg <="1111110" when "0000", "1000000" when "1010",

"0110000" when "0001" , "0100000" when "1011",
"1101101"  when "0010", "0010000" when "1100" ,
"1111001"  when "0011", "0001000" when "1101",
"0110011" when "0100", "0000100" when "1110",
"1011011"  when "0101", "0000010" when "1111",
"0011111" when "0110", "1001111"  when others ;
"1110000" when "0111", end key ;
"1111111"  when "1000" ,




Chip/ Input Output Bidir Memory Memory LCs

POF Device Pins Pins Pins  Bits % Utilized LCs % Utilized
keyin 4word
EPF10K10TC144-4 7 17 0 0 0 % 101 17 %
User Pins: 7 17 0
Project Information d:\ex\keyin 4word epflOk\keyin 4word.rpt
** PIN/LOCATION/CHIP ASSIGNMENTS **
Actual
User Assignments
Assignments  (if different) Node Name
keyin 4word@126 clkl
keyin 4word@48 clr
keyin 4word@47 ena
keyin 4word@17 scan_seg0
keyin 4word@14 scan_segl
keyin_4word@60 scan_seg2
keyin 4word@62 scan_seg3
keyin 4word@63 scan_seg4
keyin 4word@64 scan_seg>
keyin 4word@18 seg0
keyin 4word@19 segl
keyin 4word@20 seg?
keyin 4word@?21 seg3
keyin 4word@?22 seg4
keyin 4word@?23 seg5s
keyin 4word@?26 segb
keyin 4word@89 x0
keyin_4word@90 x1
keyin 4word@91 x2
keyin 4word@92 x3
keyin 4word@98 y0
keyin _4word@97 yl
keyin 4word@96 y2

keyin 4word@95 y3



4x4 g R A 6 {78 VHDL(2)- keyin combi_comO 10k.vhd (§8#%8m A{Z5% com BEEFEKEET)

FIH =(E &2 2(4H & —{E B F&(component. ... port map...)

library ieee;
use ieee.std_logic 1164.all;
use ieee.std_logic unsigned.all;
use ieee.std logic_arith.all;
entity keyin_combi_comO_10k is
port(
clr : in std_logic;
ena : in std_logic;
clkl: in std_logic;--(40HZ~250HZ)
clk2: in std_logic;
y :in std_logic vector(3 downto 0);--Y %I
x :out std_logic_vector(3 downto 0);--X
scan_seg : out std_logic_vector(5 downto 0);
seg : out std_logic_vector(0 to 6)) ;
end keyin_combi_comO_10k;
_ ket sk st ske s sk sk sk she sk sk sk sk sk sk ske sk sk sk sk sk sk sk sk sk sk sk sk sk sk skeosk sk sk skosk skok
architecture key of keyin_combi_comO_ 10k is
signal deb_press : std_logic;
signal mdu_clk : std_logic;
signal sh _reg : std_logic_vector(23 downto 0);
signal  bcdcode :std logic vector(3 downto 0);

_ 3kt sk st ske s sk sk ke sk sk ske s sk sk sk sk sk ske sk sk sk sk sk sk ske sk sk sk ke sk skeoske stk sk sk skosk skok

\

component debounce
PORT(
fs:IN STD LOGIC;
bounce_in:in std_logic;
deb out:out STD LOGIC
);
end component;

_ ket sk st ske s s sk ke ske sk ske sk sk sk sk sk steoske sk skeoskeosk sk skok sk

> [RBKERS

component key2 com0
port(
clkl: in std_logic;
x : out std_logic vector(3 downto 0);

y :in std_logic_vector(3 downto 0);

bed :out std _logic vector(3 downto 0));
_/

end component;

_ 3kt she st ske s sk sfe sk ske sk ske sk sk sk sk ske sk sk sk sk sk sk skeoske sk skeoskosk skok

\

component mdu_n
port(

fin:in std_logic; > BN BYBRAERE RS

> dxd SR AU SR

BEAE A P
Mz glfE=
A =(E




fout:buffer std_logic );

end component;

begin
__skeske sk ske sk st s sk sk sk sk sk sk ske sk ske sk s sk sk sk sk sk sk sk skske sk sk sk sk sk sk
keyin_mod:key2 com0 SEOL 4x4 AL A BIFE= B4 bedeode SEASIRHG AN 4RHE

port map(clk1,x,y,bcdcode);

_ 3kt sk st ske st sk sk sk sfe sk ske sk sk sk sk sk sk skeoske sk sk skeoskosk skok

seg_mdu:mdu_n R N Z BRIFEREEIFAY - EE4E mdu_clk FREAN 12 2 FRIFERGE
port map(clk2,mdu_clk);

load _6word:

block

signal press : std_logic;
begin
press<=(y(0) or y(1) or y(2) or y(3)); --f&SfEERITEM » K% MR 0% T Ry 1

EOL55R BEGH R FE RS > 2L deb_press
Z5EBkEREE > 45 TR E ey U
EEi

debounce mod:debounce
port map(fs=>clk1,bounce in=>press,deb_out=>deb press);

end block load_6word;

_ ket she st ske s sk sk ke she sk ske s sk sk ke sk sk sk sk s sk ke sk sk sk sk sk sk ke sk sk sk sk sk sk sk sk sk sk sk sk sk sk skeoske stk sk sk skosk skok

shift:process(clr,deb_press)
begin
if clr="1" then
sh_reg(23 downto 0)<="000000000000000000000000";
elsif deb_press='1' and deb_press'event then
if ena='0' then
sh_reg(23 downto 0)<=sh_reg(19 downto 0) & bcdcode;
end if;
end if;

end process shift;
_ 3kt sk st ske st sk sk sk sfe sk sk sk sk sk sk sfeoske sk skeoske sk sk sk skosk skok

seg7:block - HEIERE M S EUREERS - F block &7 =URE B EE &R
signal bed : std_logic_vector(3 downto 0);
begin
Scan_seg7:
process(mdu_clk)
variable Scanl : std _logic vector(2 downto 0):="000";
begin
wait until mdu_clk='1";
if (Scan1="000") then
Scan_seg <="100000" ;



bed <=sh_reg(23 downto 20) ;
elsif (Scan1="001") then
Scan_seg <="010000" ;
bed <=sh_reg(19 downto 16);
elsif (Scan1="010") then
Scan_seg <="001000" ;
bed <=sh_reg(15 downto 12);
elsif (Scan1="011") then
Scan_seg <="000100" ;
bced <=sh_reg(11 downto 8);
elsif (Scan1="100") then
Scan_seg <="000010" ;
bed <= sh_reg(7 downto 4);
else Scan_seg <= "000001" ;
bed <= sh_reg(3 downto 0);
end if ;
if Scanl >="101" then Scanl :="000" ;
else Scanl := Scanl + 1 ;
end if ;
end process scan_seg7 ;
_ kst sk st ske s sk sk ke sk sk ske s sk sk sk sk sk ske sk s sk sk sk sk sk sk sk sk ke sk sk sk sk sk sk ke sk sk sk sk sk sk sk skeoske stk sk sk skosk skok
with bed select
seg <="1111110" when "0000",
"0110000" when "0001",
"1101101"  when "0010",
"1111001" when "0011",
"0110011" when "0100",
"1011011"  when "0101",
"0011111" when "0110",
"1110000" when "0O111",
"ITI11111"  when "1000",
"1110011" when "1001",
"1000000" when "1010",
"0100000" when "1011",
"0010000" when "1100",
"0001000" when "1101",
"0000100" when "1110",
"0000010" when "1111",
"1001111" when others ;
end block seg7; --block [E&IE4E K
end key ;



** DEVICE SUMMARY **

Chip/

POF Device

keyin_combi comO 10k
EPF10K10TC144-4

User Pins:

Project Information

Input Output Bidir Memory Memory LCs
Pins Pins Pins  Bits % Utilized LCs % Utilized

8 17 0 0 0 % 121 21 %

8 17 0

d:\ex\keyin combi\keyin combi com0_ 10k.rpt

** PIN/LOCATION/CHIP ASSIGNMENTS **

Actual

User Assignments

Assignments  (if different)

keyin combi com0 10k@126

keyin combi comO_ 10k@54
keyin combi_com( 10k@48
keyin combi_com( 10k@47
keyin combi_com( 10k@17
keyin combi comO 10k@14
keyin combi comO_10k@60
keyin combi_com( 10k@62
keyin combi com0 10k@63
keyin combi comO_ 10k@64
keyin combi_com( 10k@18
keyin combi comO 10k@19
keyin combi comO 10k@?20
keyin combi com0 10k@?21
keyin combi_com( 10k@?22
keyin combi com0 10k@?23
keyin combi comO 10k@?26
keyin combi comO_ 10k@89
keyin combi comO_ 10k@90
keyin combi com0 10k@91
keyin combi_com( 10k@?92
keyin combi_com( 10k@98
keyin combi_com0 10k@97
keyin combi_comO_ 10k@96
keyin combi_comO_ 10k@?95

Node Name
clkl
clk2
clr
ena
scan_seg0
scan_segl
scan_seg?2
scan_seg3
scan_seg4
scan_seg5
seg0
segl
seg?
seg3
seg4
segs
segb
x0
x1
x2
x3
y0
yl
y2
y3



4x4 g FERTE A 6 iz VHDL(2)- keyin_combi_comO 10k.vhd FRf0l >~ BIFE =
(Dkey2 com0.vhd 74 fr 4Rt R EE A2 =
library ieee;
use ieee.std_logic 1164.all;
use ieee.std_logic unsigned.all;
use ieee.std logic_arith.all;
entity key2 comO is
port(
clkl: in std_logic;
x : out std_logic vector(3 downto 0);
y :in std_logic_vector(3 downto 0);
bed :buffer std logic vector(3 downto 0));
end key2 comO;
architecture key of key2 comO is
signal scan  :  integer range 3 downto 0;
_ 3kt sk st ske s sk sk ke sk sk sk s sk sk sk sk sk sk sk sk sk ke sk sk ske sk sk sk ke sk skeoske sk sk sk skosk skok
component debounce
PORT(
fs:IN STD_LOGIC;
bounce_in:in std_logic;
deb out:out STD LOGIC
);
end component;

_ ket sk st ske s s sk ke sk sk ske sk sk sk sk ske sk sk sk sk sk sk sk sk

begin

key scan:
process(clkl)
begin
wait until clk1="1";
if y="0000" then
if scan=0 then
scan<=3;
else scan<=scan-1;
end if;
end if;
end process key scan;
key x_ scan:
process(clkl)
begin
case scan is
when 3 => x<="1000";

when 2 => x<="0100";



when 1 => x<="0010";
when 0 => x<="0001";
when others=> null;
end case;
end process key x scan;
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key read:
process(y)
begin
if scan=3 then
casey is
when "1000" => bcd<="0011";
when "0100" => bcd<="0010";
when "0010" => bed<="0001";
when "0001" => becd<="0000";
when others => null;
end case;
elsif scan=2 then
casey is
when "1000" => bcd<="0111";
when "0100" => bcd<="0110";
when "0010" => bed<="0101";
when "0001" => bcd<="0100";
when others => null;
end case;
elsif scan=1 then
casey is
when "1000" => bed<="1011";
when "0100" => bcd<="1010";
when "0010" => bed<="1001";
when "0001" => bcd<="1000";
when others => null;
end case;
elsif scan=0 then
casey is
when "1000" => bed<="1111";
when "0100" => bed<="1110";
when "0010" => bed<="1101";
when "0001" => bcd<="1100";
when others => null;
end case;
end if ;

end process key read;
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end key ;
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library ieee;
use ieee.std_logic 1164.all;
use ieee.std_logic unsigned.all;
entity mdu_n is
generic ( N : integer := 9999 ) ;
port(
fin:in std_logic;
fout:buffer std logic
);
end mdu_n;
architecture beh of mdu_n is
begin
process(fin)
variable cnt:integer range N downto 0;
begin
if fin="1" and fin'event then
if cnt=0 then
fout<=not fout;
cnt:=N;
else
cnt:=cnt-1;
end if;
end if;
end process;
end beh;



